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The figures in the margin indicate full marks
for the questions

1. =% e qfR e : 1x6=6

Choose the correct answer :
(@ CFROIR'T [FERF @R GFF (TS (T2
[ ACF ?

How many atoms are there in the unit
cell of f.c.c. lattice?

M 3 (ii) 4
fi)) 5 fiv) 6
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(2)

b) -39 g ¥ S
-The value of i
rectifier is pple factor in full-wave

) 121
(i) 0-452
(i) 0-482

(iv) 1-452

€ <y T4 B B 3
One e€xample of amorphous solid {
S

) g
' glass

(@) e

diamond

(i) R 73

sodium chloridé

(iv) ﬁ&ﬂm it

CsCl

(COnu'nued)

(3) 2

(@) e I FR argd Teereh A VR

(e)
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When temperature is increased the
electron mobility of metals

() *®IW
decreases

(i) G T

increases

(i) IR RIS T

does not change at all

(iv) AAAWS PG NS T
first increases then decreases

RY R ek SRt GTOTRIX ?

Which of the magnetic substances does
not show superconductivity?

(i) so-Coadm e

Diamagnetic substance

(ij) =~ o

Paramagnetic substance

(i) CAE-GA oy

Ferromagnetic substance

(iv) wga®m e

Non-magnetic substance
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(4)

(5) =2
A reverse biaizlm “"%' (@ <1 REH. (b.cec) =R cifR SR
(i) % pn junction hag g
) QAPorg Find the packing fraction for a b.c.c.
high resistance lattice.
(@) 9 Aoy (e) C-E Gf§Ea «Rafs o1 p-3 ¥ 80, M o

oR1Z 100 pA T, (508 [ofss 2R A #11

low resistance
In a common-emitter transistor

i

(@) A amplifier circuit the value of B is 80. If
No resistance the base current is 100 pA, calculate the
(iv). w8y emitter current.

infinite resisar, i) fﬁﬁﬁ@ o s-Pfbs «ve @R WA ™
ce foa i e foan o

Explain with diagram the primitive and

non-primitive unit cells.

2.

Answer an : 2x
. : 6=
@ Y S questions of the follow; g 12 (g) SRRIRER cFae JRIET TES TF TFD
S-S T ojof-w areey ' ¢ A & 3 2
W | 9"@ W o
What do you understand by transition

Discuss  the temperature and critical field in case of

between i superconductivity?

() G "

Whatmﬁﬁmmﬁ” | 3. (o) OO OST FRAS AL T 4

: blasm:;e different Methods f. | Discuss the working principle of Zener

- Ol trangigior ] diode.

(o) ma W’mﬁq.@ | () TS 6 B e ok e IR
Discusg about ¢ M | 34 FA 6

Tystal diode, With a suitable circuit diagram,

P9/677 . describe the action of a Hartley

oscillator.
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(e) TR o et e srers e e

(@

4. (a)

(b)
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Tforea | wites
T o e (110) == (111) @

. 3+3=6
Fin i
: t:, an  expresssion for distan
etween lattice planes in a b‘?e
cubic

crystal. Draw the

11
of a crystal. (110) and (111) planes

e Ror
S T T @RER 2R o

Discuss .
an am the working of a trans;
plifier. Sistor as

TR
> ©RE
Rete I A W’:TCQ +*q
Describe in detaj
. etail th, .
Kamerlings Onnese €Xperiment by

c s
onductivity, on Super-

R e

( Continued )

(7) 4

w2/ Or

sy St 3 2 Bwem RERE (sc), AOR’T
R (b.cc) U@ oo RERe
(f.c.c.) Caifboa Fefeqr F90 4

What are coordination number?
Describe simple cubic {sc), body-centred
cubic (b.c.c) and face-centred cubic

(f.c.c.) lattice structure.

(© GRer s 37 Glegr TaRes Rew
RoES &S Seen- F | 1+3=4
What is transistor biasing? Discuss the
voltage divider bias method for

transistor biasing.
(d) =R =6 o@ O wEhRe SRR
ey Al SRIECARUAY foa | 5

Explain the electrical conductivity of
intrinsic semiconductors with the help
of the energy band theory.

&1/ Or
e ARAReR @ f wF sl @
1 PR oS RS T | 5

Define electrical conductivity and show
that it depends on temperature.
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